Field/Current (T/kA)

2016-12-13 19:24:41 Pickup Signal

V_pc2u
v_pc2d : : :
V_PCIU e T T PP PP PP EPEEE e TCLE TP PP EPEEEEEEEE e EEE PR PP EEEEEREE
_ v_pcld : : :
_ v_pc3u
 — v_pc3d
S V_pc4u
_— v_pc4d
OF : . . ;
19:;:&5547 19:37:I15548 19:37:|15549 19:37|:15§ 19:37:|15§1
Time (s)
Pickup Signal Integral T
v_pc2d_int
v_pclu_int
v_pcld_int
v_pc3u_int
v_pc3d_int
v_pcdu_int
v_pc4d_int
19:37:I15347 19:37:I15548 19:37:|15549 19:37|:15§ 19:37:|15s51
Time(s)
35 Rat.io of Pickup Integral to Current v o2 it o 1_shut
3 v_pc2d_int_to_i_shunt
v_pclu_int_to_i_shunt
25 v_pcld_int_to_i_shunt
2 v_pc3u_int_to_i_shunt
v_pc3d_int_to_i_shunt
15 v_pcdu_int_to_i_shunt
1 v_pc4d_int_to_i_shunt

0.5

0

0555

L i L
19:37:15s48

L i L
19:37:15549

L i L
19:37:15851
Time ()



	Contents
	Page 1


